PRET RSN 1284 TR 5 15 B(R) BETRRLRETR AB415+20 A

A6 - BT MAR A

3 5H20H 2— 5E21H 2= 5H2H 2H= SE23H 2 5H4H 2WA
A | | ok 45 e M A W | e W | | R % e e
TelER{ErEs KR BEyBE. KR
R 20k
2R 0.1KG 3 iS5 (T ER) 1.3KG SRS (QRC)+
= |&#8%ETE(QRC) R RE(KT)HARC) B EFHI<E A1 1E>(345g) & = |28 1.2KG
= | B [wacemuso = lamzAT EEER 2 [e=ros oexs| 7 % |TEERCR
| g |EBT 15k6| 55 5 |AEDHENER) & 9 AR R(EEEE
T ® RE# e =" 0.3KG
BT (CAS)< B > P e
£ |EKH(CAs)<5=RE> g SEE(CAS)<E > Eﬂf MR T GEER)<ER> o g |BERE)<KRE>
8 | ok [EEEaEs & |E&E o |FETH 03kG| # [H1TE T |[#mMER)H{QrOES>
® | ¥ lane)T EEEE 1 = |QEECEDAT)+ i) 3
£ ® |[amEn % [Awax] EEEE o #
= | B 24 B |ES 03KG = ﬁ
R | E |MRESRE) ¥ |mEazEy N ENE ) = |REZBR)
TR B Bﬂ ZN=Ed(el{a E RFA 03KG| .
| W e E<isiEs & |E2Ew 0.3KG =4 0.1K6| 3 |FKIE(EIH)(QRO)(FFERY 5 |BEHH0.6K)
o | g [UEERRoE0 % |EEESEE 7 |&8t#(QRC) H |SmEEn)kT) E |HEESA
5 ” I EHHLCAS)(1K)<FRE> g ©
” lansrEeEE ” ”
k| 5 [ERAEES25m) LT
R| o [ED<E®EZ>(125m) R
R & R e KR e Etal] e Etal] i
% SRR 5.6 SRR 46 SRR 46 SRR 49 SRR 48
H TRENE 24 TRERE 2 THREAE L1 TRENE 2 TRENE 2.2
o A 27 A 32 A 3 A 32 A 3
# A 1 K G K 1 K K
HEKF) 800 HEKF) 659 HEKP) 627 HECKF) 680 HEKP) 681
K REFEF AP HFRE 2L




